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Abstract Linear Algebra — Part 19

\/ ﬂ:-veofor space , inner product <: I.:>)

UWe V k-dimensional subspace

B=(b,be,..,by) ONB of U,

k

orthogonal projection: Kl = E l bJ<|,. \ x>
J
VY\J

The case ¥Xe A

Result:

Jg=1
scalars

X

X= Nby +Abe t - + )by

] | TRE

How fo find?

v

& easy for ONB:

\/ ﬂ:—vec’ror space , inner product < , ~>} UWe YV  k-dimensional subspace

Let ;B:(L“Ll,...,t,k) be an ONB of U .

Then for each uce A we have the linear combination

W =

k
g=1

LJ<L,J ,u> (Fowiev expansion of w w.r.t, {B)
——

(&F
Fourier coefficients




Example: V=W0 = Span( xp L, x> cos(x), x» cos(2x), xb sin(x))
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